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(1) A 6V lantern battery is listed as having a capacity of “18 Ah (amp-hours).” Does that have the same units as charge,
current, energy, power, or voltage?
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(2) You are given a 6 V light and measure the resistance of the filament at 12 Q. When using the 6 V battery above to
energize this light: (a) how much current flows through the light? (b) how much electrical power does the light absorb?
(¢) how long can the battery keep the light 1it? Be sure to include units in all three answers.
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(8) Given the resistive network below, find both the equivalent resistance as seen between terminals a and b (R,p) and the
equivalent resistance as seen between terminals ¢ and d (R.q). You can absolutely leave the || operator in your answers!
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Problem III: [12 pts.] Power

Given the block diagram below and the labeled quantities, fill out the table’s missing entries for sign convention (A or P),

voltage measurement, current measurement, and power absorbed. Put any work below the table.
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